EARAROBEEIERT — 2 N— IBISH —F

20145 7R 188 (&) 7TEISH#4E

Al S %3m%1 04 10 ¥5R3K (w8 | mEmml - |5 5) o 8
[A&4)]1#%:180,000H ~ 2#%&:36,00MH ~ 3#&:18,000H / 4%:0M / 5&%:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
118/ 8| 777—X&A1 L it 3 E-}U(J)ﬁ 1:28.8 2-2-1-1 | 38.6| — 3 444 QQE%E (%42)
L TSATUREA L BFARILET S ' ) QR et
5 3| F—HKZ b 3 ;%Tgﬂk 1(:12/82.)9 6-5-2-2 |38.7| — 4 476 g%% ;E(ﬁﬁ\‘)
R:ATONTY— BKI R T=Sas 8 \gm &
3 61957 4 3 gﬁ%&-ﬁu 1:30.1 1-1-2-3 | 40.0| -— 1 430 ?%ﬁ;ﬁﬁl P(ﬁ;’;‘%ﬁ
. 6 . 7
Q:aArFafy b BU—NRRXRTIL © S INC SN
alglg|¥a—rr—=% 3 ﬁug;gc— 1:30.5 3-3-4-4 | 40.1| — 9 | 410 gﬁﬂig (5£42)
. 2 i b
LA —=JIWhTz B:IvINHFAL)— @ -6) BaE i
511]1|%® J7as 4y 4 3 %57?%2 1(/3%3 7-7-7-8 | 38.6| — 7 513 gﬁgi (%)
LiErsn7aq BiAAEK-—L N HBET7—L
6lzl 7| ~v5912% i 3 ;E‘?%IEE 1;(310).7 9-9-8-7 |37.8| — 6 409 g%gg (5#2)
RiHLN=— BT Ry R 8 | FY 225y kst
7 o|v2s354 f 3 | BHRE 1:31.6 56-66 |40.3| — | 8 | 429 éﬁg%fé‘ &2
~ . 4 » tth=
L:a24x2 v ML B:7714Y—F/1N=)L @ -2) EE‘&%
glsls | Er¥avst— # 3 | AREE 1 8699 |3.0| — | 5 | 40 | NELE (wH)
RiFATAT v — B FOEHINLF ¢ — H12) | S g
9 4 PAELESE VY i3 5%41%()@Z 1(:13/12')8 R L 2 :633) E(g;@ﬁ] P(&l\‘lvg%ﬂ
R:7T59v 084K B:T7XFr—F EHEAS
® I—F—@EBIERL
13—7+— 6,8,9,4,2,3,1,5,7
Ao=5"= 6,8,9,4,3,2,1,5,7
G=7"= 8,(3,6),(4,9),2,1,7,5
41—F— 8,3,6,9,4,2,7,1,5
[ N5
B 8 430 794K 3-8 410 & 3-8 1,660M &R 3-6-8 770
# B 8 1204 6-8 180M B E 3-8 1,480 EE 8-3-6 8,930
3 160M 3-6 260M B H 8-3 3,660M
6 110M

ABICOVWTRDTEEERROODE. TR LIV,




